421

ISP B F %L

™ Products conents EETEEY

REAEME  BEREHOKXR BRREsER2HRHEBEL - - - - 000 422
BRRETERT > BRABEITIZ -+ « =+ ¢ v o e e e e e 423
SPEBRFTE + + » + ¢ ¢ s e e e e e e e e e e e e 424

ISP ZEFRE| 06~015 + - - - - 423




JUFAN

ISP £ F %l

RELAE (mm)

6 |

10

] 15

1EEHRITC BE)(EELE])

EdzEprntcd BIBRRAEZE R (EREM /1SO-VG32)
A RERES (Kgfiem?) 2.0 | 15
{FR & =B /] (Kgflcm?) 7.0

TE8E (°C) 0~ +60

{ERRE (mm/s) 50 ~ 500

PR +1.0

TREAZE (mm) +0

HERO M5x0.8( R R)

WAEE TR

iR AR

B :ke(AFT)

ERFANAKES 1EED {HFES(Kgflcm?)

(mm) 731 3 4 5

HE 0.8 1.1 14

° Eavs 0.6 0.9 1.1

# 2.3 3.1 3.9

0 i 2.0 26 3.3

15 # 5.3 7.0 8.8

Hi 4.7 6.2 7.8
IR

BEfI:g(A%)

FELATE (mm)

5 10 15
ISP-6 10.6 | 13.1 | 156
ISP-10 28 33 38
ISP-15 72 82 92

422

\ﬁwgﬁmﬁy\%@m&m “\m@mﬁﬁ\“ )



JUFAN

ISP £ F %l

o RELAFE AR Y
o Al H TR LB AR A FARA - AIEIE 22
o 2RI MGG

Pk ch 1R £ 1T 12

RELAE ZEITRE
(mm) (mm)
6
10 51015
15
DA £
ISP — B — 6 — 10 H4 —
RILFRF ZEEX EES 1T %58 EERR
\ \ \ \ \ \
3 B : mthZ R 6 : 6mm i 18 A BUSE I35 0E P =y i
1A S EAR 10 : 10mm Ffé H4 :d2.5xD4E | | B : E4+HY
o 15 - 15mm ’:% H6 : d4.0xD6 %
£ 2
&L p
2
A=pmm srEes TanEEEs

423




JUFAN

e|SP-B

HERAL

ISP £ F % il

NN

M5X0.8

[

11

6Gd9

o |SP-S
AL NN pad
_ R4
MM 1
e
Al B _/ ,
H [
— W= K -
A F E
_H s
B -
_ AR A B C E F G H K MM
A ST:5 |ST:10|ST:15
6 7 12 |13.9 6 125 1195 [ 26,5 | 85 9 3.5 M3x0.5
10 10 19 22 6 14.5 21 28 12 12 3.5 M4x0.7
15 12 27 31 7 16.5 | 22.5 29 19 14 4.2 M5x0.8
e s z
NN R W Q
AEES ST:5 |ST:10 |ST:15 ST:5 |ST:10|ST:15
6 M10x1.0 9 18.5 | 25,5 | 32.5 3 275|345 | 415
10 M15x1.5 13 20.5 27 34 4 32.5 39 46
15 M22x1.5 22 23.5 | 29.5 36 5 375 435 | 50

424

\ﬁaugﬁmzﬂn \\ o4 2, 73 \\ e B \\ )



